TPO 47 integrated task
The reading assets that Pterosaurs (PT) were an ancient group of winged reptiles. So, one of the most controversial questions is they were able to fly or not. Although the author tries to support the fact that they could not fly, the lecturer finds the idea dubious and presents some evidence to refute them all.
First, the author argues that they were a cold-blooded animals which this feature caused slow metabolisms. Conversely, the lecturer brings up the idea that some new researches indicate that because of some dense hair like fair which these kinds of animals had, it can prove that they were warm-blooded animals. As a result, the problem related to slow metabolisms is solved.
Furthermore, the reading passage holds the view that they could not have flown because of the enormous body. On the contrary, the professor underlies the fact that although these animals had a large body, several bones which constructed their bodies were light because of many hallows and pores bones had.

Finally, the reading asserts that we can see a kind of mechanism like strong muscles in the legs of birds, which can help them to jump and start to fly. In contrast, the speaker dismisses this issue due to the fact that PT used all four limbs in order to stimulate first step to fly. But, other flying animals like birds just utilize two hind legs to make the first jump.
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